Reading Practice 7

1. Desmond stopped running toward the startled woman until he realized she wasn’t his mother.
Please choose from one of the following options.

A.  No Change

B.  woman which

C.  woman when

D. woman, when

2. Franklin struggled with French pronunciation, so his professor suggested that he watch French movies to become more familiar with the sound of the language.
Please choose from one of the following options.

A.  No Change

B. because

C.  yet

D.  or
3.  Some scientists propose that thumb sucking in children is a habit which is developed at random, and recent theory suggests that it is neurologically and genetically based.
Please choose from one of the following options.

A.  No Change

B.  random, considering that

C.  random, but

D.  random, since

4. Unless human consumption is diminishing fish and shellfish populations, the World Wildlife Federation is advocating for stricter limitations on fishing.
Please choose from one of the following options.

A.  No Change

B.  Although

C.  Before

D.  Since
5. As the hot air balloon got close to the surface of the lake, Ginger jumped and landed in the water and she could not take one more terrible joke from the pilot.
Please choose from one of the following options.

A.  No Change

B.  but

C.  whereas
D.  because
Answers

1.  C

· woman when

This choice is the best answer because it appropriately subordinates “he realized she wasn’t his mother” as a dependent clause.
2.  A

· 2. NO CHANGE

This choice is the best answer because "so" appropriately and logically connects the two independent clauses.
3.  C

· random, but

This choice is the best answer because it effectively uses a comma and the coordinating conjunction “but” to join two independent contrasting clauses.
4.  D

· Since

This choice is the best answer because it appropriately subordinates “human consumption is quickly diminishing many species of fish and shellfish” as a dependent clause.
5.  D

· because

This choice is the best answer because it effectively uses the coordinating conjunction “because" to join two independent clauses.
